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B |x=8 |48 |#E%  |ypEE |mEDxwL |FEE (EE [AF kM [@mF T |Fase |Ek |#
1] 2 ENE| 1 SSW| 2 SSW| 1 SSE| 5 E| 1 SE| 1 SE| 1 El 1 NE[ 1 NNE| 2 SE| 3 SE| 2 SW| 2 El 3 E
2| 2 NE| 1 S| 3 SSW| 1 NNE| 5 El 1 NE| 2 ENE| 1 3 SE[ 1 NNW| 3 SSE| 3 SE|l 1 SSE| 1 ESE| 4 E
3| 2 NE Wl 3 SSW| 1 SSE| 4 ENE| 1 NE| 1 SE SW| 1 NE C| 3 SSE| 3 SE| 2 WNW| 1 E|l 5 E
4] 2 ENE[ 1 WNW| 1 SW| 1 NNE| 4 1 NNE| 3 Nl 2 NE| 3 SE C| 2 E[ 2 SE| 3 ENE| 2 El 5 E
5] 3 ENE SW| 2 Wl 2 4 1 ENE| 2 NE| 6 NE| 3 SEl 1 WNW| 3 NNW| 1 WNW| 5 NNE| 3 SE| 6 E
6] 2 ENE|] 1 WNW| 1 SSE| 3 E| 4 E[l 1 N[ 7 N| 4 NE| 4 SE| 1 WSW| 5 NNE| 3 NE| 5 NE| 1 SSE| 3 E
7] 1 NE| 1 WSW| 2 SSW| 5 E| 4 E| 3 SSE| 6 NNE| 4 NE| 3 ESE C| 4 NNE| 4 NNW| 4 N C| 4 ENE
8] 4 NE| 3 NNE| 1 NNE| 3 ENE| 1 ESE| 1 E[ 7 NNE| 5 NE[ 2 NW|[ 4 NNW| 3 NNE| 5 Nl 3 NNE| 1 Nl 2 NNE
9] 3 NNE[ 3 NNW| 2 SE| 1 ESE| 1 SW| 2 SSWi| 11 Nl 7 NNE|] 5 WNW|[ 5 NW| 10 NNW| 5 NW| 6 NNW| 4 W| 6 WNW
10 4 NNE| 4 NNW| 1 ESE|[ 1 Wl 2 W| 7 NNWJ| 12 NNW| 2 NNW]| 4 Nl 7 NW] 10 NNW|[ 8 NW| 9 NW| 6 Wl 7 WNW
11| 5 NE| 6 NNW| 11 Nl 3 N[ 3 NW|] 7 NW|12 NW|[ 4 WNW|] 4 NNW|] 6 NW[ 10 NNW| 8 NW| 7 NW| 6 W| 8 WNW
12 2 SW| 6 WNW| 5 NW| 5 W 5 WNW[ 4 NW|[ 9 NW| 3 Wl 4 WNW| 6 Wl 5 NNW|[ 4 WNW| 7 WNW| 5 Wl 7 W
13| 4 SW| 4 Wl 3 Wl 6 WSW| 9 W| 4 Wl 7 Wl 9 WSW| 3 WNW| 5 Wl 6 NNW| 4 WNW| 7 W| 3 W| 5 W
14 5 WSW| 5 WSW| 4 SW| 5 WSW| 6 WSW| 5 WSW| 7 SW| 5 SW| 3 WNW|[ 3 SW| 5 NNW| 3 WNW| 5 SSW| 4 Wl 4 W
15| 4 SW| 5 SW| 7 SW| 4 WL 2 SW| 6 SW| 7 SSW| 4 SSW| 2 WSW| 1 SSW| 3 S| 1 WSW| 2 ENE[ 1 WNW| 2 WNW
16| 6 WSW| 6 SW| 6 SW| 7 W[ 3 E[| 4 SW| 5 SSW| 3 SSW| 3 SSE| 1 WSW| 5 S| 1 WNW| 3 N[ 1 Nl 1 E
17/ 5 WSW| 4 WSW| 5 SSW| 5 Wl 1 SE|] 3 SSW| 7 SW| 3 S| 2 ESE|] 1 SSW| 4 S| 2 S| 1 NNE[| 1 WSW| 2 SW
18
19
20
21
22
23
24

FEH| 3 3 3 3 4 3 6 4 3 3 5 4 4 2 4

AR| 6 WSW| 6 NNW| 11 Nl 7 Wl 9 Wl 7 NNW|] 12 NNW|[ 9 WSW| 5 WNW|] 7 NW[ 10 NNW| 8 NW| 9 NW| 6 W| 8 WNW
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